Arkansas Power & Light Company
. P O Box 551

August 29, 1989
PCANPBEI14

U. S. Nuclear Regulatory Commission
Document Control Desk

Mail Station P1-137

Washington, DC 20555

Subject: Arkansas Nuclear One - Units 1 & 2
Docket Nos. 50-313 and 50-368
License Nos. DPR-51 and NPF-6
Semiannual Radiological Effluent Release Report

Gentlemen:
In accordance with 10CFR50.36(a)(2), Arkansas Nuclear One, Unit 1 Technical
Specification 6.12.2.6 and Arkansas Nuclear One, Unit 2 Technical

Specification 6.9.3, attached is the Semiannual Radiologic.. ciriuent
Release Report for the first and seconi quarters of 1989.

Very truly yours,

y‘z’ psarfl Jrac s
James Fisicaro

Manager, Licensing
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SUMMARY OF THE QUANTITIES
OF
RADIOACTIVE LIQUID AND GASEOUS EFFLUENTS
AND
SOLID WASTE RELEASE REPORT FROM ANO




ARKANSAS PCWER AND LIGHY [ OMPANY PABE 1 "JF &
ARKANSAS NUCLEAR CNE : UNIT 1

SEMIANNUAL SUMMATICN OF ALL RELEASES B8Y QUART:=
ALL LIBUID ZFFLUENTS

GUARTER # 1 AND GUARTER # Z OF 19¢9

REPORT C(ATEGORY
TYPE OF ACTIVITY
REPORTING PERIOL

et it S oS iy N S S S —— -~

3 UNIT TQUARTER 1 :QUARTER 2 sEST.TOTAL:
s tHMOURS tHOURS SERRDR X 3
TYPE CF EFFLUENT s 3 1=2150 :2161=6344 $

Ay FISTION AND ACTIVATION PRODULTS
Te TOTAL RELEASEANOT INCLUDING : H
TRITIUM, GASES, ALPHA) sCURIES $ 3.7T0E~01 2 2.485=0% : 0,008-01:
2e AVERAGE DILUTED CONCENTRATION : :
PURING PERICD sUCI/ML 2 1.75€=09 3 B8,456~10

-

3. PERCENT OF APPLICAILE LIMIT : % $ 5.83E=01 : 2.82E-01 :

3o TRITIUM

e R T R L L L N T T N T N T T T N N SRS RSRRPRRI_S,

1. TOTAL RELEASE sCURIES : Y12 9% 2 1-025 DZ H Coth"C‘l:
e AVERAGE DILUTED CONCENTRATION H

VURING PERIOD sUCI/NL $ Lo33E=0T7 3 3.40E~CT 3
3« PERCENT CF APPLICASLE LIMIT - “ 2 J406E-LR 3 1.,15E=Q2 2

Co DISSOLVED AND ENTRAINED GASES

-

1« TOTAL RELEASE ¢CURIES 8 4L 6TE=Q1 ¢ 2.38€ 20 3 0.,00€6-012
e AVERAGE ODILUTED CCONCENTRATION : s 3 :
PURING PERIZ JD sLli/mL 3 292E-09 3 4.,098-09 3

3o PERCENT OF APPLICAJLE LIMIT s %

8 T.U8E~03 2 4.04E~03 3

De GROSS wiP4A RADIDACTIVITY
1. TOTAL RELEASE tCURIES 1 5.26E-06 ¢ 2,36E-05 : 0.00E~01:

- -~

£« wASTE VOL nELEASZID(PRE-DILUTION) :éAL s 2400E U® 2 2.62F D6 : 0.00f8-01:
Fe VOLUME OF OJILUTICN wATER USED tuAL $ 5457TE 10 3 7,768 10 3 D.008=D12

- ———— -



PAGE 2 CF 4

-

: CONTINUCUS RELEASES @ SATCH RELEASES @

s UNIT sQUARTER 1 :QUARTER 2 :QUARTER 1 :3UARTER 2 :

3 tHOURS s nOURS tHOURS :mOURS $

NUCLIDE : : 1=2160 21614344 ¢ 1-2160 :2161=43446 :

ALL NUCLIDES

- -~

f*3 38 CURIES 3 O.00E~01 : D.00€~DY 3 9.12E 01 : 1.02¢ 02 3
=14 t CURIES : D.ODE~0Y 2 C.DOE~DY 2 0.,00€E+-21 : D.0DE~DY :
NA= L4 t CURIES : D O0E~01 : D.DOE=D1 2 6.,57€~04 : 6.11€=05 :
pe32 t CURIES : D.DOE~D1 : C.ODE~DY 2 0.00E~DY : D.D0€~01 :
CR=31 : CURIES : O,00E~0Y 32 D.DDE~DY 3 Z.29E~0& 2 2.256~03 :
MN=54 $ CURIES : D.DDE~-DY : D.00E~0% 2 1.55E~02 2 1.218~D2 :
MN=S¢ * CURIES : D.UVE-DY : O.00E~0% : Q0.,006-0D1 : 0.00€~01 :
FE=S55 ¢ CURIES : D.0DE~Q7 : D.O00E~D1 2 2,12E-01 : 3.388-02 :
FE=59 $: CURIES : O+DCE~DY 2 D UCE~01 3 T.92E~0é% : 4.51E~03% 2
Lo=8538 8 CURIES : O.ODE=D1 2 D.00E~01 2 Z2,19E~-02 2 2.22¢8-02 :
Lo=00 2 CURIES : D .00E=01 3 L.0DE~DY 2 3.26E-03 : 1.08E=02 ¢
NI=03 t CURIES . D.00E-0Y : 0.D0€~0Y : C.ODE~DY : 0.D0E~DY :
NI=o3 ¢ CURIES : D.,008-01 : D.O0DE~0Y 3 0.O0DE~D1 : 0.00t~01 :
CU=24 $§ CURIES : D.0DE~-0% : 0.00E~0Y : D.,D0E=DY : D.DUE=D1 :
IN=85 $ CURIES : D.00£~DY : C.O0E~01 ¢t P.62E-Dé 2 1.32E-D3 3
IN=0¥% 38 CURIES : O.0DE-01 : O.DDE~-CT : D.00E~01 2 D.O0E~O% :
ER=63 ¢ CURIZS : O.00€E-0Y : 0O.00PE~-D1 : 0.00E-0%1 : 0.DDE-D1 :
IR=E4 H CURIES ¢t D.DDE~-01 : OOOOE-O1 : 0.005‘01 H OOOOE—O’ .
3R=E5 $ CURIES : D.DDE~0Y s D.DOE~CT1 2 D.00k~-D1 2 D.DOE~DY :
RE=89 :t CURIES : D.O006-0% : O.00E-0Y : 0.0D€E~D01 : 0.D0E~01 :
RE~838 : CURIES : D0.00E~D1 : 0.DOE~-OY 2 0O.DO0E-D1 : D.D0E-D1 :
RE=89 3 CURIES : D.DDE~0Y 3 C.D0E~0Y z D.ODE-D1 : D.DDE-D? :
3R=853 § CURIES : 0. 0DE~=01 2 C.ODE=DT : 1.78E~Dé& : 9.82E~04 :
sk=71 gt CURIES : D.,00E~01 z D.DDE~DY 32 D.ODE-D1 : 0.,0DE~01 :
=50 : CURIES : D ODE=01 : C.DOE=O% 2 D.00&€~0D1 : D.0DE~DY :
Y=y1¥ s CURIES : 0.0D€=0Y1 : D.DDE=01 : D.0DE~DY s O.D0E~0Y :
Y=%1 s CURIES : O0.00&~D0Y : 0.00E~DY : D,00€~-01 : 0.00£~01 :
Y=5¢ $ CURIES : 0.006~0% : D.008~0Y ¢ D.00E~DY : 0.00E-D1 :
Yo393 $ CURIES =: D.00€-01 : D.00E~01 : J.00E~D1 3 0.00E~01 :
ZR=95 $ LCURJIES 2 D.DDE~DT : D.0DE=01 3 27504 ¢ 2+.26E04 :
IR=97 8 CURIES : D.O0DE~01 2 D.ODE~D1 2 9.,37TE~D6 = 3.65E-05 :
NBE=SS : PCURIES 3 D.D0E~01 2 O DDE=D1 2 2.2BE~D6 : 4,15E=D4 3
MO=99 $ COURIES : D.O0E~DY 2 D.D0E~D1 2 D.LODE~DY 3 4.,D3%~D4 2
TC=vy7M 3 CURIES 3 0.00E=D1 2 D.O0DE~01 : 3.98E~D5 : 3.01E~D4 :
TC-101 : CURIES : 0.,0DE~D1 : O.DDE=DY 3 D.00€E=uY 3 D.D0E~DY 32
AU=12035 t CURIES = D.DDE~-DY 2 D.DBDE~01 3 2.928=05 : B.TBE~DS :
RU=105 $: CURIES : 0.00€=0% : 0.D0E~C1 : O.DDE~0Y : 0.00E~0% :
RU=120¢ § TURIES 32 0,.0DE=01 5 D.00B=09 2 2.,7068~04 35 1.,228~0D4 13
AG=110M : CURIES 3 U.0DE~01 2 D.0DE~0Y 3 TabbE~DOS 3 3.3F%E«~0J3 3
TE=-125M : CURIES : D.DDE~D1 : 0.00E«0% : 0.00E~CT1 : C.ODE~D1 :
TE=127M $ CURIES : D.00E-0% : C.O0E~DY & O.D0E~0Y 2 D.DDE~UY
TE=127 ¢ CURIES : D.O0E~DY : 0.ODE~CY : D.008~01 : D.DOE-D1 :
TE=129m :t CURIES : O.00E~01 : D.DOE~DY : D.,00E~D1 2 O.ODE~-D1 :
TE=129 $ CURIES : 0.00E~0D1 : O.ODE-DY : D.O00E~DY : 0.00E~DY :
TE=131M 8 CURIES : D.CDE~DY : 0.DDE=DY : D.O0E~0Y1 : D.00E~D1 :
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CONTINUOUS RELEASES

-
-

sATCH

RELEASES

.
-

s UNIT SQUARTER 1 :QUARTER 2 :QUARTER 1 :QUARTER 2 :
H s HOURS :HOURS tHOURS :HOURS 3
NUCLZIDE 3 : 1=2160 :2101=4344¢ ; 1=2160 :2161=6344

ALL WUCLIDES

- - - -

TE~131
TE=~132
I=130
=13
=132
1-133
I=-134
I=135%
£5=134¢
£S$=13¢
CS=137
£S=136
SA-13%
AA=140
34-141
3A=14¢
LA=140
LA=14c
CE~141
CE~143
CE-144
PR=143
PR=144
ND=147
w187
NP+¢3¥%
KR=B83N
Kk=85M
K&=85
KR=¢E7
KR=&3
K=oy
KR=90
KE=131M
XE=133M
XE=133
XE=135M
XE=135
XKE-157
XE~138
AR=a1
5R=90
G ALPHA
JTHER
Se~7
K=4uU

R i e R ————

CONTINUED

SR B SR S8 BR TR A% A% BT AR 4% AR RE S% Sr B3 8% B3 %e e

A% 2% 8% %8 as

S8 SR A% Bs WE A% S w8 s

LA L I 2

& 35 »

CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURJES
CURIES
CURIES
CURJES
CURIES
LURIZS
CURIES
CURIES
CURIES
CURIES
CURJES
CURTES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURIES
CURI:S
CURIES

LU I T

% B TR A% 20 8% R8N ae w8 e Ae Bw

B AR Se AT E ax e

S8 2% 2% 9% s 0 %r

0.00e~-01
0.00e-01
0.00E~01
C.UDE~D1Y
C.C0E-D1
0.00e-01
0.00E=-01
0.00€~-01
0.00€E~-01
0.00E~-01
V. COE~-D1
0.CO0E-D1
0.00E-01
0.00&E-01
C.00E~01
C.00E~-0%
0.00e~01
0.C0E~01
0.0DE-D1
0.00E-01
0.00e-01
0.00E~01
C.00e~-01
0.00€-01
0.00e-01
U« 00E~CY
0.GDE~-DY
0.00e=-01
C.C0e~01
0.00€~01Y
0.00€~-01
0.00€-01
0.00E-D1
C.00E-01
J«.0UE~DY
0.00E-01
U.00E~-D1
0.00€-01
0.C0DE-DY
0.00E-01
0.00e-01
0.00E~01
0.00E~-D1
0.00E~D1
0.00E~01
0.00E-D1

BE SR BE T3 AR AT R0 S8 A8 A% 2% Sh e ST 48 Be SR 8% s A% w6 R Ae wn BR x5 SR ew LA 1

§ % 20 s SR 4% an ss e %% me 4% w8 SR Bw ww s

0.00E-01
0.00€~-01
C.C0E-01
C.00E~-01
C.00E=-D1
0.00E-01
0.00E-D1
0.00E~-01
0.00E-01
0.00£-01
0.00€~01
0.00E-01
0.00E~-01
0.COE~-D1
0.00E-01
0.00€-01
C.00€-01
0.00€-01
0.00E~-01
C.00E~01
0.00€-01
C.00E~-01
0.00E~01
0.00E~01
0.00€-01
C.CDE~21
0.00€-01
0.00E-01
C.00E~-01
0.00E~01
C.00E~01
C.00e-01
0.00€-01
0.00€ -01
C.00E-01
0.00E~21
0.00E-01
C.C0E=-D1
0.00E~-01
C.00€E-01
C.00E-01
C.00E~01
0.00e-01
C.00E~-01
0.00e~-01
0.00E-01

WA S8 BN BE S 54 S% O BR TS AR A% B4 A% SE BR SE R4 KR 5% S8 DR e W

ISR SR Re A% SR SR 8% R Ba 8w an

L L L T T R T

0.00€E~-C1
0.00E-01
0.00E~-D1
5.35e~-02
0.00€E-01
6.39€~-06
0.C0E-D1
0.00E-01
0.?7E-03
0.00€-01
1.72E-02
00005-01
0.00€-01
0.00¢&-01
U«00€-21
0.00€~01
1.026-03
O0.C0E-01
C.00E-01
0.00&-01
0.00E-01
J.U0E~-D1
0.00E~01
0.00E-01
C.00E-01
JeO0E~T1
D.00E-01
0.00E-01
1.118~02
0. 20E-21
J«00E~-01
0.90€-21
Ued0E-L1
3.78E-D2
0.00E-01
3.98E-01
0.00E-01
b,764E=05%
C.J0e-01
J.U0E-DT
0.20€=-01
U«00&~01
Se24E~04
0.00E~-01
0.COE~01
0,00E=-01

SR S5 00 % B% " BE 8% TP S8 S8 98 B8 %4 S0 S5 20 S0 B0 % SR AR 8% W A% B e Be s

0.00&-01
0.00€~-01
0.00E~-D1
4.62€-02
J.00€-01
3.04E=05
0.00E-01
0.00€E-01
1.23E=02
0.00€-01
2.55€~02
0.C0E~01
0.00€E~01
1.282-05
0.00E=-01
0.00€-01
2.956-02
0.00E-01
0.00€~01
0. 00€~-01
0.00€-0D1
0.00€=01
0.00E-01
0.00€~01
0.00e-01
0.00E~01
Q.00€e~01
C.00€e-01
1.463€=02
0.00€-01
0.00€-01
C.00E-01
0.00E-01
4. 60E~-QZ
6.61E-03
2.31¢ 20
0.00&~01
4, 3BE-D4
0.008-01
0.00z-01
6.59E~0¢e
2.93E=04
2e30E-05
0.00€-01
1.218=04
3065&’35

A% 8% se % 2% S8 %% e ke 3% %8 ak e §
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PAGE & OF
¢ CONTINUCUS RELEASES : ZATCH RELEASES @
$ UNIT SQUARTER 1 tQUARTER Z :QUARTER 1 :QUARTER 2 :
sHOURS tHOURS tHOURS tHOURS 3
NUCLIDE - 3 1=2160 :2161~6344 12140 :2161=4344
ALL NUCLIDES CONTINUED
Co=-56 ¢ CURIES : 0.00E-01 : 0O.00E=-CY : 0.,00€~01 : 0.0DE-01 :
Co=57 : CURIES : O.COE=D1 2 0.00E~D1 3 6.T6E-DS : D.00E=01 :
SE~75 : CURIES : Q0.00£6-01 : 0.00E~21 : 0.00E=2% : 0.00E=01 :
SR=E5 ¢ CURIES : 0.00E=01 : 0.00E=D1 : D.00E~3J1 : 0.00E~0Y :
Y-E& ¢ CURIES : D.00E=01 : D.,00E~0% : D0.,00E-0% : 0.D0E~DY :2
NB=94 $: CURIES : D.00E~=01 : D.DOE~01 : 0.,D00e£~0% : 0.00E-01 :
NE=97 ¢ CURIES : Q.00E~=Q1 : 0.00€=01 : 3.DPE=0S5 : 2.91E~0S :
MO0=v0 ¢ CLURIES : O.0N%=01 2 D.O0E~O01 : 0.00€6=2Y : 0,00e-09 :
Ep=109% t CURIES 3 0.00é=01 : D.00E~0Y : 0,00E=0% 2 0.00E~01 :
LD=113m ¢ CURIES : 0.,00E~-01 : 0.00€E~-01 : 0.,00E=01 2 0.006-0% :
3N=113 : CURIES : D.,00E~01 2 D.D0E=0Y : 3.87€~06 2 0.00E~0% 3
sé=122 ¢ CURIES : OQ.CDE~=01 : C.00E=01 2 7.33E=06 2 9.64E=0S5 :
$8=124 ¢ CURIES : D+00E=01 : CoO00E=01 : 6.94E~0Ub 2 6.,29E-D4 :
se=125% ! CURIES : 0.00E=D1 : Q. O0E~01 : 2.25E-02 : 3.47E-02 :
58‘127 . CURIES H OODOE-D’ H 0.005-01 H 5-O1E-US H 1.9‘5-05 H
BA=133 ¢ CURIES : C.CO0E-01 : 0.00E-01 : 0.00€6~C1 : 0.00€=-01 :
CE~-139 8 CURIES : 0.00E~0% : 0.D0E-01 : V.O0e~01 : 0.00E~01 :
gU=152 : CURIES : UL,008~DY : D,00E-D1 ;3 D.00E~D1 2 D.DOE=DY =
HG=c03 ¢ CURIES ¢ O.0DE=~0Y 2 D.D0E~D1 : 0.,00E=01 2 0.D0E-DY :
PB=214 $ CURIES 3 O.O0DE~-D% 2 D.O00E~D% : 0.0DE-D0Y 2 D.O0E~DY :
3I-214 $ LURIES : 0.00E=07 : D.00E~D1 : 4.03E-04 : 0.0D0E-01 :
RA=22% $ CURIES 3 0.00E=D1 3 O.DDE~DY : 0.00DE=01 2 0.00&~01 3
TH=228 §¢ CURIES : 0.00E=C1 : D.00E~01 2 0.,00E~01 2 D.00DE~-DT :
U=235 : CURIES : D.,00E~01 : 0.0DE~D01 : 0.,0DE~D1 : 0.DDE~01 =
TOTAL FOR PERIOD CURIES 3 U.D0E=01 : 0.00E~D% 32 9.,20E 09 2 1.08E D2 2



ARKANSAS POWER AND LIGHT COMPANY PAGE % DOF &
ARKANSAS NUCLEAR ONE : UNIT 1

SEMIANNUAL SUMMATION OF ALL RELEASES 3Y QUARTER
ALL AIRBORNE EFFLUENTS

GUARTER # 1 AND GQUARTER 2 £ O0F 1989

REPORT CATEGORY
TYPE OF ALTIVITY
REPORTING P:ZRIOD

- - - .. . - -

2 UNIT tQUARTER 1 :QUARTER 2 :EST.TOTAL:
3 s HOURS tHOURS sERROR X
TYPE OF EFFLUENT H : 1-2160 :2161=4344 |

- - -~ - - - .- -

Ae FISSION AND ACTIVATION GASES

e e i L L L R p———

T« TOTAL RELEASE sCURIES 2 Co17TE€ (02 2 9.78E 03 : 0.00E~01:

e e ik bk L L T T Ry p——

2e AVERAGE RELEASE RATE FOR PERIOD :uCl/SEC $: 276E 0% 3 2.20€ 02 13

3¢ PERCENT OF APPLICABLE LIMIT : “ 2 3.86E~01 & 3.108é 00 3

2« RADICICOINES

1. TOTAL IODINE=131 tCURIES 2 2B9E~D4 ¢ S.2TE=0S : S.00E~2%%

2e AVERAGE RELEASE RATE FOR PERIOD :UCI/SEC $ 3.6TE=05 3 1.058~J%

5. PERACENT OF APPLICABLE LIMIT : . : 1.03E~04 2 2.94E~05 3

- - - - - - - -~ -~

Co PARTICULATES

¢ PARTICULATES(HALF-LIVES>8 DAYS) :CURIES 3 345VE~D3 3 4., T6E~06 5 D.00E~01%:
2s AVERAGE RELEASE RATE FOR PERIOD :UCI/SEC : oSTE~U6 : 0.00E~07 :
5« PIRCENT OF APPLICABLE LIMIT : - 3 1.,88E=C3 32 1.708-06 3

#s BR0SS ALPHA RADIODACTIVITY sCURIES : D-00E=D1 35 0.,00E=0% 3

Pe TRITIUM

1« TOTAL RELEASE sCURIES ¢ o73E CO ¢ 5.606~01 : 0.00E-01:
de AVERAGE RELEASE RATE FOR PERIOD :UCI/SEC Pe2TE~DY ¢ TL128~02 3
3. PERCENT OF APPLICASLE LIMIT : % 3 BoTBE~DG 35 9.,97£~0S5

‘



e A ——

PAGE 2 OF
: ELEVATED : GRUUND
§ BATCH RELEASES : 3ATCH RELEASES

B % o0 an | ae s

s UNIY :QUARTER 1 :QUARTER 2 :QUARTER 1 :QUARTER 2

3 s HOURS t HOURS sHOURS :HOURS
NUCLIDE H $ 1-2160 :22151=43544 : 1=2150 :2161=-4344
FISSION GASZS
KR=¢3im ¢ CURIES : Q0.00E=D1 : 0,00E-01 : 0.00e=-01 : 0.D0E~-01 :
KR=E5M : LURIES : D.DOE~DY 2 DO0E=DY 2 1.226~08 : D.00E~DY :
KR=85 $? CURIES : D0.D0E~01 : D,D0E~01 ¢ 1.6BE~03 2 1.70¢ D3 :
KR=87 t CURIES : D O00E=0% : 0.00E=D1 : B.97E=06 : 0.00E~D1 :
KR=§8 $: CURIES : D.00E=0% 2 C.006~0% : 1.92¢8-0%5 2 0.D0E=DY :
KR=E9 $ CURIES : Deo. .c=01 : 0.006-0% : D.00€6-01 2 D.00€=D% :
KR=90 ¢ CURIES 2 QC.C0E~07 : 0.,00€-01 : D.00E~01 : 0.0DE=DY :
XE=" M ¢ CURIES : D.00E=01 : D.DOE=D1 : 9.B2E=03 : S5.30€E~D91 :
XE=1 13M 8¢ CURIES : NDOE=D1 2 0 O0E=D1 2 S.BGE~D: 3 S5.05€~01 :
XE~133 3 CTURIES : DJODE~D1 & D.0DE=DY 3 2.96E& 02 3 $.83E 0% 3
KE=1,5M ¢ TCURIES : D.D0E~0Y : D.ODE~DY 2 2.1BE~D6 : 0.00E-0D1 =
KE=135 2 CURIES 2 C.O00E=D1 3 C.O0DE~Q1 2 S.OD0E~0V 2 B.48E-0% :
KE=137 2 CURIES : V0.00£~«01 : D.O00E=01 : 0.O0DE=D01 : 0.00E~DY :
KE=~138 8 CURIES : 0.00E-0% : D.00E-=D1 : 3.87e~06 : 0.00€~-DY :
AR=41 : CURIES : 0.00E=D1 : D.DOE~DY 2 6.406~06 : 0.00E~0Y :
OTHER 3 CURI‘S g8 O, 00:’01 : 0.00E-01 : 0.00E~01 3 0 00€~-0% :
TOTAL FOR PERIOD 3 CURIES : Ds COE 01 0.00E-0% : 2. 17E 02 3 1.785 03
IODINES
I1-130 : CURIES 32 0.,D0E~01 : D.O0E~D0Y : D.00E~DY : D.DOE-DT :
I=131 ¢ CURIES : 0.,008=01 2 D.00E=01 : 2.89€E-04¢ 2 B.27E~0S :
I=132 8 CURIES : D .008=0D1 : D.ODE~DY 2 2.33E~05 : D.00E~0% 3
I-133 $ CURIES 2 D.00E~0% : O.DOE~D1 2 2.22E=DS 3 0.,00e-01 :
I=134 $ CURIES : D.ODE~DY : D.00€E~01 2 2.67E~05 : 0.00E-=01 3
I=135 : TURIES s D.D0E~0Y ¢ V.D0E~DY ¢ 2.58E~0% 2 D.DOE~DT 3
JTHER 8 CURIES : D.00E-01 : D.O0E~01 : D.00&-91 3 J.OO'-J1 -
TOTAL FOR PERIOD $ CURIES 3 D.O00E~01 s DJODE=ON t 3.87E=D6 3 Bs 27:-05 $
PARTICULATES
W3 § CURIES : D.ODE-DY 2 D.0DE~-O1 : 4.93E 00 3 5.,60E~01 :
(=14 8 CURIES : D.ODE=-D1 2 O.OUE~=0T1 : 0.,00E-01 2 PL.ODE~DY 2
NA=Z & $ CURIES : D.DOE=D1 : D.OOE~=D1 3 2.,28E~0% 3 0.,0DE~D1? 3
Pe32 $ CURIES : O.O00E=-0Y : 0.D0E~DY : 0,0DE~DY : 0.00E=9% :
CR=51 { CURTES 3 0.008~-09 : D.D0E~0Y : 0.,00E=0Y 2 D.00DE~DY :
MN=54 8 CURIES ¢ D.00E~0Y : O.DDE~D1 : 0.,DDE~DY : 0.,00E~DY =
MN=56 $ CURIES 3 0.,00E~01 : O C0E=01 : D.00E~D1 : 0.,00E~DY :
FE=~55 3 CURIES : D.00E~D1 . D OD0E=0% : O.,00E~DY 2 D.,D0E=D1 :
FE~S9 8 CURIES O+00E~DY 3 D.,D0E=09 s 0.00E=01 2 D.00E~D1
C0=538 t CURIES DsOVE=DY 2 D.,00E=-D1 : 1.99E~06 : 0,00E~09 :
c0=0l : CURY 'S 3 D.D0E~DY 2 D.ODE~DY : 2.,46E-=086 3 D.D0E~D1 :
NI=63 : CUR1ES 0.00E~0Y : 0.00E-01 : 0.00e-01 : 0.00£-01 :
NI=o5 t CURIES : D-0DE=DY : D.DOE~DY : 0.0DE~01 : D.,00E~01 :
tu=oé CURIES 3 O.0CE-01 3 0.00E~01 t 0.,00E-0%1 : D.,00E=0% :
IN=~¢5 $ CURIES 0.D0E~01 2 O0.00E-0Y 2 0.D0E-0Y : D.,DO0E~D1 :



A . —'—————'—_—_————'—————'——1
PAGE 3 OF & |

3 ELEVATED 3 GROUND 2
3 SATCH RELEASES IATCH RELEASES 3
s UNIT tQUARTZR 1 :QUARTES 2 :QUARTER 1 2QUARTER 2 :
3 tHOURS t HOURS tHOURS $HOURS 3
NULLIDE 3 g 12160 :2:21861=43446 : 12960 :2161=4344 :
PARTICULATES CONTINUED
IN=09 $ CURIES : Q400£=01 2 D-ODE~DY : 0.00z=07 : 0.00E~D% :
3R=E3 ¢ CURIES : 0.00E~«01 : D.00E~01 : D.00E=24 : 0.00&+=01% :
SR=56 ¢t CURIES : 0.00E~01 : O.DD0E=01 : 0.00E=(1 : 0.00€6-091 :
3R=ES ¢ CURIES : 0.00e~-D% : 0.0CE~D1 : 0.006-01 : 0.00E-0% :
RB~E% ¢ CURIES : U.O0DE~01 : O.00DE~-01 : C.00E=01 : 0.00E~01 :
RE~33 ¢t CURIES : D.COE~-D% : J0.00E-01 : 5.00£~05 : 0.00E-01 :
RE=57 Y CURIES : 0.,00E~01 2 O0.0DE~D1 : D.00E=01 2 D.D0E~09 :
SR=87 i CURIES : 0.00E~01 2 Q.00E-=01 : 1.09E~=06 : 1.418-07 :
SR=%1 8 LCURIES : 0.00E~01 : D.DD0E~DY : 0.00E~DY : 0.00E~-0% :
SR=92 ¢ CURIES : 0.C0E~0% : D.O0E~01 : 0.00E-01 : 0.,20E-0% :
Y=90 $ CURIES : 0.00E~01 2 0.,00E~0% : 0.908-01 : 0.00E~D% :
Y=91M $§ <URIES 2 O.CDE~DY : C.00E~01 = 0.O0DE=DY : 0.00E~D1 3
Y=91 $: CURIES : 0.006&=01 : 0.,0DE-D01 : 0.00E~21 : 0.00£-09 :
Y=9¢ $ CURIES : DO.DDE~-DY : D.ODE=(1 : 0.00E=01 2 D.DDE~=DY 3
Y=93 ¢ CURIES : D.00E=01 : 0.008=0% : C.00E~0" : 0.008-01 :
IR=95 2 CURIES : D.,0DE~-DY : 0,00 -0t : D.00€~01 2 0.00E~01 :
LR=97 ¢ CURIES : 0.00E=01 : 0.D0E-0% : D.DODE~-D1 : 0.00E-D% :
NB=95 ¢ CURIES ¢ Qo ODE~-D1 : D.0DE-N1 : 0.O00E~01 : D.00E=-0% :
MO~y? :t CURIES : D.00t-0Y : 0.00t=-01 : D.00e~01 : 0.00E=01 :
TC=99M $ CURIcS : 0.00E~01 : D.008~Dt : D.D0E-01 : 0.00E~0Y :
T¢=101 s CURIES : D.D0E-0% : 0.00E~01 : G.0CE~0Y : 0.00E~DY :
RU=-103 ¢ CURIES : D.00£~0% : 0.00E=D1 : 0.00€E~0% : 0.00E~0% :
RU=103 : CURIES : 0.00E-01 : 0.00E~-0Y 3 D.D0e=-01 : 0.00E=01 :
RU=12% 2 CURIES : C.DDE-01 : D.DOE-DY 2 D.ODE~-D1 2 0.00E~0% :
AG=110M $ CURIES : 0.,00&E-D1 2 C.ODE~DY : D.ODE~01 : D.00E~09 :
TE=125M 2 CURIE:. 3 D0.00E=0Y 3 D.0DE~-D1 : CoODE~01 : 0.00E=0% :
TE=127M ¢ CURIES : 0.D0f~0% : 0.00t~-D7 : Q0.002~D01 : 0.008=-D1 :
TE=127 $ CURIES 3 D O00E~0Y =z D.008-01 : D.O00E=0C1 : 0.00E~0Y 3
TE=1294 ¢ CURIES : D.ODE~0Y 2 C.DOE~.1 : U.O00E=01 : D.00E=DY =
TE=12% § CURIES : 0.006~01 : D.O0DE~07 2 0.00E=D1 : D.D0E=D: :
TE~131m § CURIES : D.O00E=0% 2 D.DOE=01 3 0D.0CE=D1 & D, 00E=0% 3
TE-131 8 CURIES 3 Q.00£~0% 2 0.008~01 : 0.00E=DY : 0.00E~=01 :
TE~132 g CURIES 3 D.00E~0Y : D.ODE~D1 : D.00%=D1 : D.DOE~DY :
C8~13¢ 2 CURIES : 0.D00E~-01 : 0.00EB~D1 : 1.16E~06 : 3.75¢8~0B8 :
£8~136 ¢ CURIES : D.ODE-0% : 0.006=D1 : 0.005=01 2 0.006=01 3
Cs-1137 ¢ CURIES : (Q.O0DE~0% : D.00E-D1 : B.11E~-06 2 4L.S53E-06 3
C5=138 ¢ CURIES : O0.00E-01 : O.00E-01 : 3.50E-0S : 0.00E-01 :
3‘-’39 H CURXES : 00006-0‘ H r‘QOOE.D1 H UDOOE-,J‘ H OODOE-O’ .
2A=140 $ CURIES : 0.D0E~D01 2 D 00E=DY 2 0.00e~01 3 0.,00E~01 :
3A=141 ¢ CURIES : D.ODE=D1 : 0.00E~01 : 0.,00E-01 : 0.DDE-0Y :
2A-144 $ CURIES : O.00E-D9% : 0.,D0E~UY 2 0.00E=-01 2 D.DDE=DY :
LA=TeU $ CURIES : D.0D0E=0% : D.D0E~D01 2 0.00e=-01 3 0.00E=-DY :
LA=14cC §¢ CURIES : D.D0E-01 : D.,00E~01 : 0.,0DE-DY1 : 0.00E~01 :
CE=141 $ CURIES : O.00E-01 : O.00E~-D1 : 0.00&-01 : 0.00E-D1 :
CE~143 $ CURIES : D.DDE~DY : D.O0E~DY 3 DL,00t=-09 : O0.00E-09 3
CE=144 s LURIES & O QDE~D01 : 0.,00€-0% : 0.,00E~01 : 0.00E~-D1 :



’ * PAGE 4 OF
3 ELEVATED - 3ROUND :
H ZATCH RELZASES ; SATCH RELEASES 3
3 JNITY :QUARTER 1 :QUARTER 2 :QUARTER 1 :QUARTER 2 :
H : HOURS : HOURS :HMOURS SHOURS 2
NUCLIDE g g 1=2160 22161=4344 : 12160 22161=43446 ¢
PARTILULATES CONTINUED

PR=143 ¢ CURIES 3 D UDE=DY 2 0.00E~01 : 0.008~i'% ¢ D.O0DE~0Y 2
PR=144 ¢ CURIES : O.O0DE~DY : D.00E~0% : J.,0DE~0y : 0.00E-01 :
ND=147 ¢ CURIES : O.00E-01 : 0.O00E~0% : 0.00E-01 : 0.0DE~-01 :
w=187 ¢ CURIES : U.00E~-01 : 0.00E-01 : 0.00e~01 : 0.00E~-01 :
NP=¢3¥ ¢ CURIES : 0.008-01 : 0.00E~-0% : 0.,0DE-D1 : 0.00E-09 :
SR=%0 ¢ CURIES : 0.00€~01 : Q0.0NE~01 : D,00e~-D1 : 0.00E~01 :
3 ALPHA ¢ CURIES ¢ V.00£=21 s D.0DE=J9 32 QO.00E~D1 3 D.DDE=DY 32
OTHER H CURIES i 005-01 3 3.005‘01 . 0.005‘01 . 0-005-01 :
HE~T7 ¢ CURIES : D.00:~-0% : 0.D0E=01 : 0.00¢~D% s 0.,00E~01 :
K=4J ¢ CURIES : D.0VE~0Y : 0.O0DE~01 : 2.05¢-05 : 0.DOE~DY :
LO=5% t CURIES : 0.00E-D% : 0.00E~01 : 0.00€-921 : 0.00E~0" :
LD=57 $ CURIES 3 C.00E~07 : 0.006~01 : 0.008=09 2 D,.008-0Y :
$E~75 : CURIES : O.ODE~DY : V.00E~0% : 0.,00E~-01 : 0.00E-01 3
SR=E5 : CURIES  : D.UDE=DT1 3 0.00E~01 : 0.008-0% : D,D0E~D%
Y=58 : CURIES : D CDE~D1 : DO.D0E=C1 : 0.,D0€6=21 : D.D0E=01% ¢
NE=94 ¢ CURIES : Q. 0CE=01 : 0.,00E~0% ¢ 0.00E=01 &t D.00E~01 :
NB=97 ¢ CURIES : 2.00e-0% : 0.00E~01 2 0.00E~0% : 0.00¢c-0D1 :
MO=%0 : CURIES : 0.00t=01 : 0.00E-01 : 0.00&~01 : 0.D0E-01 :
Co=10¥9 : CURIES : 0.00t~0% : 0.00E~01 : 0.00E-0% : 0.0DE~-D% :
CD=113M ¢ CURIES 2 D.0DE~0Y : C.00E~-DY : 0.00£-01 : 0D,00€-0% :
SN=113 ¢ CURIES : D.00€-01 : 0.006E=0% : 0.00£~-01 : 0.,00E-01 :
3B~122 3 CURIES : C.00E~0% 2 0.00E~D1 : O-COE~D1 : 0.ODE~DY 3
56=124 ¢ CURIES : 0.00E~0% : D.00E-0% : D0.00E=01 : D.DDE~D? :
3B=12°5 $2 CURIES : D.ODE~DY : 0,00€=09 : 0.,00E=0% : D.00E~D% :3
$B=127 t CURIES : D.0DE~DY : 0.D0E~D1 : D.00E=01 : 0.00E~D% :
3A=133 t CURIES : 0.00E~C1 2 O.O0DE=01 2 0.,0DE=01 : 0.0D0E~0% :
£E=139 :! CURIES : D.00E~01 2 0.DDE~0% 3 D.0DE=01 : D.DOE=~D1 2
sU=~13¢ $ CURIES : 0.00E=01 : D .00E=D1 : 0.00E=0Y 2 0.00E-DY s
dG‘ZJ: . CURIES : OOOOE-31 H 30005-31 : C.DOE'«" : 00308-01 -
PB~c14 $§ CURIES : O.00E=~0DY : C.00E~07 : 0.00¢" ¢t 0.00E~-0% :
31=L%w t CURIES 3 O<UDE=~D1 3 D.00E=01 : JD.,00E=00 3 3.,69E=0% 3
RA=Z2¢ s CURIES 0-.00E~01 : O.COE-O1 H d.LO‘-JI $ 0.008~01 3
TH=223 s LUR1ES D.O0E=0Y z 0,006=0%1 : 0.00E~ : C-.008=0% 3
y>235 $ CURIES : D.00E- 01 s C OOE 0% 32 u.u1:-01 $ 0 0D0E~01 :

§ TURIES : D00k~ 01 2 Qe OOE DY 3 «.93¢ 20 3 S $0€-01

TOTAL FOR PERIOD



) ‘

ARKANSAS POWER AND LIGHT CCMPANY PARE % DOF &
ARKANSAS NUCLEAR CNE 2 UNIT 2
SEMIANNUAL SUMMATION OF ALL =
ALL LIQUID EFFLUENTS

GQUARTER & 1 AND GUARTER % Z 2F 1939

REPORT CATEZORY
TYPE CF ACTIVITY
REPORTING PERIOD

LEASES 2Y QUARYER

s UNIT SCGUARTER 1 :QUARTER £ 2EST.TOTAL:
3 tHOUKS :HOURS SERRDR X
3 3 12160 2 2161=64344 $

TYPE CF EFFLUENT

he FISSION AND ACTIVATICN PRODULTS
1« TOTAL RELEASECNCT INCLLDING $ : :
TRITIUM, GASES, ALPHA) tCURIES $ S.64E~-LT1 2 5,558-01 : 0.0CE~C1:

-

Ze AVERAGE DILUTED CCNCENTRATICN : : :
OQURING PERIDD sUCI/ML t 2.8B8E~CY9 : 1.89E-09

3¢ PERCENT CF APPLICABLE _IMIT : e t 8.928-01 3 6,.3CE~01 3

S« TRITIUM

1« TOTAL RELcASE sCURIES 2 T.35E C1 2 1,468 02 2 0.CCE=0132

Ze AVERAGE JILUTED CCNCENTRATICN
DURING PEZRIOD sUCIZML § J.4VE~LY

4.99€-07 =

3. PERCENT OF APPLICABLE LIMIT H % 2 1.16€6~02 2 1.66E~-02

Co DISSCOLVED AND ENTRAINED GAS:S

1. TOTAL RELEASE tCURIES $ 4oh5E CO 2 2,30 00 3 0.0CE~C1:

e AVERAGE DJILUTED CONCENTRATICN : H : :
DURING PERIOD tUSI/ML $ 2116028 ¢ 7.82E-09 3

5¢ PERCENT CF APPLICABLE LIMIT 3 b9 3 T.UE=0¢2 ¢ S,918-03 3

Js oROSS ALPHA RADICACTIVITY

1. TOTAL RELEASE sCURIES 3 2409E=L4 3 4,16E-03 2 D.LLE~01:
Ee WASTE VOL RELEASEDC(PRE-DILUTION) :3AL : 4ebSE C5 2 4.96E 05 : 0.00E~01:

Fo VOLUME OF DILUTICN WATER USED tGAL $ 5.,57E 10 3 T.76% 1L 32 L.00e*C13



CDNTINUCUS RELEASES 2ATCH PEL‘ASES

:QUARTER 1 ¢ :QUARTER 1
sHOURS tHOLRS
1-2160 : : 1-2160

sQUARTER 2
sHOURS
1 2161=4344

- -~

ALL NUCLIDES

=3 8 CURIES 3 L.DDE~-01T 3 C COE=01 3 7.35E 01 3 1.46E 02 3
=14 8 CURIES ¢ C.00E~CY : C.COE~DY 2 D.O0E-CY1 : 0.00€E-D1 :
NA=C & : CURIES : 0.002-01 2 CoCOE=01 : 0.03E=04 : 9.99E~04 :
pP=32 ¢ CURIES : C.00%-01 2 C.CO0E=-01 : 0.00€~01 : C.COE~01 :
{R=51 ¢ CURIES : 0.005~01 3 C.O0E=D1 2 2.156-02 : 1.078-02 :
MN=fe $: CURIES : C.002=C1 2 C.DDE-D01 3 EB.OGE~DS : B.49E-03 :
MA=56 ¢ CURIES : C.00E=DY : C.OCE~D? 2 0.00E~01 : C.O0E~-CHY :
FE~355 ¢ CURIES : D.ODE~-01 : C.COE~-DY : 3.52€~02 : 3.75E-01 :
FE=57y ¢t CURIES : C.O00E~D1 : C.O0E~D1 : 3.,17E~03 : 1.00E=02 :
LD=5¢ ¢ CURIES : C.CCLE~-01 ¢ C.COE~01 2 9.29€-02 : ¢.SDE=D2 :
CO0=c( : CURIES : D.O0UE~Q0Y : C.CO0E-01 : 4.92€6~03 : 2.68E~D3 :
NI=¢! ¢ CURIES : C.002-01 : C.00E~01 : 0.00E~01 : 0.0D0E=01 :
NI=05 ¢ CURIES : C.C0E=D1 : C.O00E-01 : 0.008~CY1 : 0.00E-01 :
CU=cé ? CURIES ¢ UL.COE~D% 2 C.COE=DY 3 D.008~-0% ¢ 0.0CE=DY 2
IN=05 ¢ CURIES : 0.00E~-0Y : C.00E~01 : 0.00E~D21 2z 0.0CE~-C1 :
IN=¢9 ¢ CURIES : C.O00E~-C1 : C.OCE-D1 : D.00E=01 : 0.COE-01 :
gR=0 5 ¢ CURIES : C.COE~C1 : C.COE~01 2 0.00E=0Y : 0.CCE-O? :
IR=gd ¢t CURIES : O.U0E-01 : C.008~-01 : 0.00E~01 : 0.00E~-01 :
ER-E5 ¢ CURIES : O.O0E~D1 : C.00E-01 : 0.00E~01 : 0.COE=-01 :
RB=E6 $ CURIES = C.0CE~-D1 : C.C0E~01 2 0.09E=01 : 0.00E~0D1 :
RE=~E8 ¢ CURIES : C.COE~0Y1 : C.COE~-DY : D.O0E-01 : C.DOE~D1 :
RE=s Y ¢ CTURIES 2 C.00E~D1 3 C.LO0E~D1 : D.,ODE-D1 2 D.00E~DY =
SR=89 ¢ CURIES : O0.00E=-01 : C.O00E~01 : 8.96E~04 : 2.09E-0F :
SR=91 : CURIES : C.O0CE~01 2 C.O00E~-D1 : 0.D0E=D1 : 0.COE=D01 :
SR=92 ¢t CURIES : C.LUOE=D1 : C.COE=DY : 7.96€=04 3 8,.52E-06 :
Y=90 $ CURIES 3 O.00tE~D1 3t C.O00E=0D1 2 D.0DE-DY 3 0.0CE~D% 2
Y=3?1m : CURIES 3 CUOE~LY 3 C.LDE=D1 2 D.00E=91 : D.O0DE=CY :
Y=91 $ CURIES ¢ 0.,00£+~01 2 C.D0E~DY 2 0.00E~0Y 3 C.00E-01
Y=92 ¢ CURJIES 3 C.COE~-DY1 : C.CCE~D1 : 0.00E=01 3 0.CCE~01 :
Y=93 *t CURIES : C.00E~DY : C.O0E~DY : D.00E~-01 : 0.00€-01 :
IR=9S 8 CURIES 2 Co.CDE~J1 : C.DDE=0% 3 5.,83E~03 : 3.38E~03 2
18=%7 2 CURIES 2 O O0DE=01 3 C.CCE=DY 2 5.313E-DS 3 4.95¢~DS
Ne=93 t CURIES 3 D.C0E=DY 2 C.COE~DY : S.38E~03 : &4.304E~03 3
bl R t CURIES : O.O0DE~D1 : C.COE~D1 : B8.B2E~03 s S5.29E-CS3 :
TL=y9m t CURIES : D.DOE=0Y : D .C0E~-D1 : 7.12E~2% & 5.23¢-03 :
TC-1C1 ¢ CURIES : 0.006~-0% s C.00E~-D0Y : D.O0E-0Y : 0.00E~-D1Y :
RU=1032 : CURIES : D.00E=01 2 C.ODE=01 2 3.69E~06 2 3.85E~C¢ 3
RU=108 : CURIER 3 U.,D0E~01 : C.00E~-01 2 0.00E~-0CY = D.00E~0% :
AU=100 $ CLURIES : U.ODE=0Y 3 C.D00E=D1 : D.ODE-DY 2 1.53E~04 2
AG=110M $ CURIES : C.00E~D1 : C.O0E~-DY 3 B.,15€E~C2 3 2.298-02 :
TE=125¥ $ CURIES 3 CO.COE=-CY1 3 C.O0E-0Y 3 0.,00E~CY : C.OCE~-DY :
TE=127¥ 8 CURIES : 0.008<«0Y : C.D0E~-0Y : 0.,00E~CY 2 C.00£-01% :
TE»127 $§ - CURIES 32 CoDDE~OY 3 L.DOE-DY 2 O,D0E~DY ¢ O+COE~D1 3
TE=-125N™ $ CURIES 3 D.00E~OY 0.,00E-0Y : C,00E~0Y s C.O00E=DY :
TE=12% : CURIES 0.00E-01 32 C.C006-01 : 0.,00€~0% 2 0.0CE=-0Y 3
TE-131M 8 CURIES : C.DDE~DY LD -01 $ D.0DE=O0% : 0.CCE~DY :
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PAGE 2 OF &

$ ELEVATED H 3ROUND 3

: SATCH RELEASES EAT CH RELEASES :

$ UNIT SQUARTER 1 :2GQUARTER 2 :QUARTER 1 :QUARTER ¢

3 : HOURS : HOURS tHOURS sHOURS 3

NUCLIDE H s 1=21860 221614344 3 1-2160 :2161-4344 :
FISSICN GASES

KR=33M 3 LURIES 3 D.UDE~DY : O.DOE=071 2 D.D0E=D1 : D.DDE~DY 3

KR=c5M $: CURIES : O.ODE~DY : 0.0DE~DY 3 J.00E~01 s 3.07&~0% 2

KR=¢5 ¢ CURIES : D.DOE=D1 : D.O00DE~D1 2 S.95E=03 2 1.81E~02 :

KR=E87 $ CURIES : O.O0DE~DY : D.00E-=DY : 0.00E~D1 : 0.00E~D1 :

KR=E3 $ CURIES : D.ODE~DY 3 0.00E~0% : D.00E=DY : 0,.D0FE~DY 3

KR=8% ¢ CURIES : 0.00E~D1 : 0.,00E=0% : O0.D0E-0Y : 0.00E=-0% :

KR=Y0 $ LCURIES ¢ O0,70E*01 : 0.,00E~D1 : 0.,00E~D1 3 0.,D0€E~-0% :

XE=131M g CURIES 5 O.DDE+~DY 2 D.D0E~D1 2 2.76% 00 2 1.83¢ 0D

XE=133M $ CURIES 2 O.N"UE=D1 t D.D0E~DY 2 2,06 D0 2 1.82E D%

XE=133 2 CURIES : D.0D0E-DY 2 D.D0E~01 3 8,32F LR 3 B8.,D0E D2 3

XE=135M 8 CURIES : O+.CDE=01 : 0.,00E~01 3 D.00E«0% : 0.00E-01 :

XKE=135 3 CURIES : D+DUE~DY 3 D.D0E~01 3 £8.353E 01 3 $5.51¢€ 01 :

XE=137 3 DURIES D.00E=DY : D.00E~01 2 0.,00E~D1 : D.DOE~0Y 3

XKE=138 $ TLCURIES 0.00E~0Y 2 D.006~01 : 0.006~0% : 0.00E~0% 3

AR=41 $ ZTURIES D.00E~0Y : 0.00E-01 : 0.00E~-01 : D.00€-01 :

OTHeR 3. LURIES : O.D0€~0% :2 O.HOE-41 $ D.D006=01 3 U.00E~01 :

TOTAL FCR PERIOD $ CURIES : D.OOE~DY : 0. OOE 0% 3 9.22¢ A2 3 8 P1£ 02 3

IODINES

I=130 3 CURIES : D.DOE~DY : D.DODE- 01 8 0.006-01 : 0.00E-01 3

I=131 $ CURIES : D.OCE=D1 32 D.ODE~DY 3 46.07E=0S : 1.93E~Dé 3

I=132 $ CURIES : D.00E=0% : D.O0E~D0Y 3 00,0001 3 0.00E~D1 13

=133 2 CURIES 1t O.DDE=DY 3 D.00E~DY 3 1.,97€~06 3 2,556E~06 3

1-13¢4 3 TCURIES ¢ D.D0E~DY : 0.,C0E~-DY 3 0.008-D1 : 0.00£~01 2

I=135 $ CURIES 3 U.00E~0% 3 0.,D0E~D1 3 0.005-31 ¢ D.00E~0% =

QTHER s LURIES - 2 U OOE 01 2 0.00E=01 s J0E-01 ¢ 0.D0E~01 2

TOTAL FOR PERIOD t CURIES 0.302-01 $ C.O00E=01 2 4o 2TE=D5 2 1.96E-06 :
PARTICULATES

$ CURIES : D.0DE~DY : 0.D0E~-D1 : 2.87¢ 00 : 1.20¢ DO 3

¢ CURIES : 0.006-0% : D.00E-01 : 0.,006~01 : D.00E~0% :

¢ CURIES : 0.,00E=-01 : 0.008-01 : D.00€E~01 : 0.D00€=01 :

t CURIES : D.O0E~-D1 : D.DIE-DY : D.D0E~0T1 2 D,DDE~09 3

¢ CURIES : 0.00E~D1 : 0.00t~01 : D.00E~-01 : 0.00E-CYT :

£ THURIES 3 D.DOE~DY 3 D.DDE-Q0Y 2 DJODE=0T 3 D.00E+#D1 3

3 CLURIES : D.O0CE~-DY 3 D.,00E~0% : D.006~-01 3 D.ODE~DY 3

8 CURIES : 0.00E=01%" : 0.008=21 : 0.,00E-01 : 0.00E-01 :

8 CURIES : D.00E~01 s 0.00E~-DY 0.00E=01 : 0.00E~01 :

$ CURIES 3 U.D0E~0D1 3 0,00E-D1Y 0.00E-01 : 0.00E-01 :

$ CLURIES : D.00E~0Y = 0.00£-DY 5. 50E~07 : 3.93E~06 :

¢ CURIES : 0.00E-01 : 0.00eE=01 : 0.00E=01 : 0.0CE~-O1 :

t CURIES : D.00€E-01 : 0.00E~-0Y : 0.008~-01 : O.OQE~-DY :

¢ CURIES C.0CE~01 : D0.,00E~01 0.00E~D1 2 0.00E=DY 3

t CURIES 0.006-01 : 0.,00E~01 0.00E=01 2 0.00&-01 :



PAGE 3 OF &
-4 ELEVATED 3 GROUND H
3 3ATCH RELEASES : ZATCH RELEASES 3
3 UNIT :QUARTER 1 2QUARTER ¢ :QUARTER 1 :QUARTER 2 :
3 st HOURS :ROURS tHOURS tHOURS |
NUCLIDE s - 1= 2100 121614344 : 1-2160 :2161-4344
PARTICULATES CONTINU:D
IN=69 ¢ CURIES : D.00E-01 : 0.0DE~- 01 : 0.002-01 : 0.00€E~-01 :
3R=83 : CURIES : 0.00€-01 : 0.00E~01 : 0.00&=01 : 0.00€E~-01 :
BR=54 ¢ CURIES : D.O0DE-01 : O.00E~01 : 0.00E=01 : 0.D0E~D1 :
3R=55 ¢ CURIES : O.00E~-01 : D.ODE-D1 : 0D.U0E~01 : 0.00E-01 :
RE=&0o ¢ CURIES : 0.00E-01 : 0.00€-01 : 0.00E=-01 : 0.00E~01 :
Rp=z8 ¢ CURIES : 0.,00E-D1 : 0.00E=-01 : 0.00E=0Y : 0.00E~-01 :
RE~=8 Y . CURIES : 0.00E’01 H 0.00E-01 H O-JOE’O1 : 0.005-01 H
SR=69 ¢ CURIES : Q.O00E=D01 : Q.O0CE~=01 : 3.38E=07 : 8.92E-07 :
SR=91 ¢ CURIES : 0.O00€E-01 : 0.00E~01 : 0.006-01 : 0.00E-01 :
S5R=v2 ¢ CURIES : D.00E-D01 : 0.O0DE=D1 : 0.00E~01 : 0.00E-01 :
Y=%0 ¢ CURIES : O.00E=D1 : D.00E=D1 : 0.00€E-01 : 0.00E-01 :
Y=91M ¢ CURIES : 0.00E=01 : 0.V0E~01 : 0.00E=91 : 0.00E=D1 :
Y=91 ¢ CURIES : D.00E-0Y : 0.D0E~01 : D0.00E~-01 : 0.00E=-01 :
Y=92 $ CURIES : 0.00E-Q1" : 0.006~01 : 0.006-01 : 0.D00E~-01 :
Y=93 ¢ CURIES : 0.00E-01 : 0.00E~-D1 : 0.00E=21 : D.00E~-C1 :
IR=¥5 ¢ CURIES : 0.,00€-01 : D.00E-01 : 0.00E-01 : 0.00€E-01 :
IR=97 ¢ CURIES : 0.00E~-01 : 0.006-01 : 0.0C0E~0Y : 0.00€E~-01 :
NE=95 ¢ CURIES : O.0CE~-01 : D0.00E-01 : 0.00E-01 : 0.00E-01 :
MO=~97% ¢ CURIES : Q.00E~-01 : 0.00E-01 : 0.00E=01 : 0.00E~0i :
TC~99M ¢ CURIES : 0.00€-C1 : 0.00E-01 : 0.006=01 : 0~.00E=-01 :
TC=101 ¢ CURIES : 0.00E-D1 : 0.00E=01 : 0.00E-01 : 0.00€E=01 :
RU=103 ¢ CURIES : 0.00E~-01 : O.00£=0%1 : 0.00E-01 : 0.00E~D1 :
RU=10S ¢ CURIES : 0.00E-01 : C.O00€-01 : 0.ODE=Q1 : 0.0DE-D1 :
RU=106 ¢ CURIES : 0.00&=0G1 : 0.00E-01 : 0.,00E=-"1 : 0.00€~-01 :
AG=-110M s+ TCTURIES 0.00&-01 : 0.006-01 : 0.00t~-.1 : 0.00E=01 :
TE=125M : CURIES 0.00E=01 : 0.00€~-01 : 0.,00E~0!' : 0.00E-01 :
TE=127M $ CURIES CeO0E~01 : O.006E=01 : C.O0E=01 : 0.00£-01 :
TE=127 $§ LTURIES : DL«O0E~-0% s D.O0DE~0% : 0.00E~01 32 D.DOE-O1
TE-129M $ CURIES : D.00E~0% : D.O0DE~0Y : 0.00E~0Y : D.D0E-01 :
TE~-129 ¢ CURIES : 0.00E=D01 : O.00E~01 : 0.00E=01 3 0.008=01 :
TE=131M ¢ CURIES : 0.00E~-0% : 0.00E-01 : 0.00E=D1 : O.D0E=-D1 :
TE=131 ¢ CURIES : 0.00E~-D1 : 0.00E=01 : 0.00E=01 : 0.00E~01 :
TE=132 ¢t CURIES : Q0.00E~01 : 0.00€-01 : Q.00é=01 : 0.00E~-DY :
{$=13¢ 8 CURIES : 0.00E=0Y 2 D.00E~-D1 : 5.50E=0R% : 2.158-056 :
£5=136 : CURIES : Q0.00E-01 : 0.00£-01 : O0.00E=~D1 : 0.00€E-01 :
C8=137 ¢ CURIES : D.00E=01 : O.D0E=01 : S.73E~06 : 6.29E-06 ;3
£5=138 ¢ CURIES : 0.006~01 : 0.,00E~01 : 0.00E=D1 : 0.00E~-0Y :
3A=139 ¢ CURIES : 0.00E-01 : 0.00E~-D1 : D.00E~01 : D.O0E-O01 :
3A=140 ¢t CURIES : D0.00E=01 : D.DOE=D1 : 0.00€6=01 : D.DOE=DY :
sA=141 $ CURIES : O.,DDE-DY : D.00E~01 : 0.00E~01 2 0.,00E-DY =
FA=142 38 LCURIES : O0.008~09% 2 0.006-0% 2 0.00E=DY 3 D.DOE=DY =
LA=140 $ CURIES : D.00E~0% : 0.,00E=LY : 0.DOE=01 : D.0DE~-D1 :
LA=142 ¢t CURIES O«00E=01 2 D.00E=01 : 0.00€E~-01 : 0.00E-01 :
CE~1461) $ CURIES 0.00e=-01 : D.008~01 ¢ D.O00E=21 : 0.00£-01 =2
CE=143 : CURIES 0-.00E~-01 C.00€E-01 : 0.00E~CY 2 D.00E-01 :
CE=144 £ CURIES C«U0E-D1 0.00€-01 : 0.,00E-01 : 0.00E~-01 :
L____________________ ELUEL A g i ie ey Ak oL SR i L g L



$  AUNIY sQUARTER 1 2QUARTER 2 :QUARTER 1

3 : HOURS :HOURS sHOURS
NUCLIDE s 3 1-2160 .2191-&3«- : 1-2150
PARTICULATES CONTINURD
PR=143 ¢ CURIES : 0.00E=-91 : 0.,00E~01 : 0.00E-01
PR=144 ¢ CURIES : 0.00€-01 : 0.00E~01 : 0.J00€6-01
ND=147 ¢ CURIES : 0.00E~0Y : 0.00E~01 : 0.00E=-01%
=187 ¢t CURIES : 0.00€E~D1 : 0.006-01 : D0.D00e-01
NP=237 : CURIES : 0.0DE~-0Y : 0.00£-01 : 0.00e-D1
5R=90 ¢ CURIES : O.00E-01 : 0.00E~01 : 0.008-01
E ALPHA ¢ CURIES : V.00t~01 : 0.00E-01 : 0.00E=91
JTHER ¢ CURIES : 0.0DE~D1 : 0.Q00E-01 : D0.00e-01
3E~-7 ¢ CURIES : 0.006~0% : 0.00€E-0% : 0.D0£-01
K= 40 $ CURIES : 0.D00€E-0% : 0.DO0E-01 : 0.00e-01
C0=5% t CURJES : 0.00e-01 : 0.00E-01 : 0.008-09
wB=57 ¢ CURIES : 0.00E-01 : 0.00€~01 : 0.00e~-01
SE=7S : CURIES : O.00E-01 : D0.00E=01 : 2.00E-01
SR=85 ¢t CURIES : O.00E~0Y : 0.00E=01 : 0.00€e-01
Y=-838 $ CURIES : 0.00E~D1 : D.DOE~D7 : 0.00E=01%
NE=Y4 ¢ CURIES : 0.00&-01 : 0.00E~01 : 0.U0E-D1
NE=97 ¢t CURIES : 0.00E-0% : D.00E~01 : 0.00e-01
MO0=-90 : CURIES : 0.00E~-01 : 0.00E-D1 : 0.00E-01
£D=109% $ CURIES : Q.00E~01 : 0.0DE~01 : 0.00E-D1%
Co~113m ¢ CURIES : O.00E~D1 : 0.D00E-0% : 0.00£-01
SN-113 t CURIES : D.,00E-01 : 0.,0DE~01 : 0.DOE-D1
$B=-122 ¢ CURIES : D.O0DE~D1 : D.O0E~-01 : 1.34E-06
3B=124 ¢ CURIES : 0.0DE~DY1 : D.00€E~D1 : D.00£-01
58=125 ¢ CURIES : O.00E~-01 : C.O00E~-01 : 0.00E-01
Se~127 ¢ CURIES : O0.00E-01 : 0.D00E=01 : 0.00E-01
3L-133 ¢t CURIES : 0.00€E~01 : 0.,00E~01 : 0.00E=21
CE=13% : CURIES : D.C00E~01 : D.O00E-01 : C.0LE-D1
glu=1.2 : CURIES 2 0.00E=D9% 2 D.00:-01 ¢ 0.0D0E=CY
M6=203 CURIES : 0.00&~-01 : 0.0DE~C1 : 0.00€-01
PB=214 : CURIES : D.00E-01 : D.,00E-01 : 0.,00E=01
Bl=clé 8¢ CURIES 3 D.U0E=DY 2 D.ODE=U1 : 4.40E-05
AA=224 : CURIES : D.D0E~D1 2 D.D0E-D1 : D.00E=21
TH=22>5 ¢ CURIES : 0.,00E-0% : D0.DOE-DY : D.00E-D1
y*23s $ CURIES : D.O00E=DY :© 0, 03E~31 : D.008=21
TOTAL FCR PERIOD H CURIES $ D«O00E=01 2 D, OOE 01 2 2.87E 00

PAGE &

CF 4

GROUND :

-
-

-~ ——

ELEVATED

SATCH

RELEASES

BAT (K

RELEASES :

-~

tQUARTER ¢ :
tMOURS 3
221616544

0.00E-01
0.00E-01
0.00E~01
0.00€=-01
0.00E~01
0.00€~-01
0.00e~-01
0.00E~01
0.00€-01
3.61E~05S
0.00€-01
0.00e-01
0.00&=-01
0.00£~01
C.00E-01
0.00E-01%
0.00€E-01
0.00€-01
C.00€-01
0.00€~-01
0.00€-01
0.00E-01
C.00E-01
C.00E~-01
0.00€-01
0.00E-01
0.00€-01
0.00e-01
0.00€~C1H
0.00E-01
2.33E-056
9.87E-07 :
3.01E-06 :
0.00€E=-01 :
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**x REGULATORY GUIDE 1.21 REPORT »x»
ARKARSAS POWER ARD LIGHT
ROUTE 3 BOX 137G
RUSSELLVILLE, AR 72801

START DATE 1/1/1989

PROCESSED WASTE CUBIC METERS 0.00E+00
CURIES 0.00E+00
DRY ACTIVE WASTE CUBIC METERS 9.63E+01
CURIES 4 . 79E+00
IRRADIATED COMP. CUBIC METERS 0.00E+00
CURIES 0.00E+00
OTHER (DESCRIBE) CUBIC METERS 0.00E-00
CURIES 0.00E-00

MAJOR NUCLIDES FOR PROCESS WASTE

MAJOR NUCLIDES FOR DRY ACTIVE WASTE:
C5137 CORIES=
FE55 CURIES=
AG110M CURIES=
NI63 CURIES=
COo58 CORIES=
COo860 CORIES=
C8134 COURIES=
NB85 CORIES=
MN54 CORIES=

DB DO -

MAJOR NUCLIDEE FOR IRRADIATED COMP. :
MAJOR NUCLIDES FOR OTHER (DESCRIBE):

SOLID WASTE DISPOSITION
SHIPMENTS MODE OF TRANSPORTATION

2 UNSHIELDED VAN/TRUCK
15 UNSBIELDED VAN/TRUCK

END DATE 6/30/19889

ERROR= 0.00E-00
ERROR= 2.00E+00
ERROR= 0.00E-00
ERROR= 0.00E-00
.03E+00 +/- 2.00E+00
.97E-01 +/- 2.00E+00
.5TE-01 +/- 2.00R+00
.52E-01 +/- 2.00E+00
.07E-01 +/- 2.00E+00
.65E-01 +/- 2.00E+00
.53E-01 +/- 2.00E+00
.87E-01 +/~ 2.00E+00
.61E-02 +/~ 2.00E+00
DESTINATIORN

OAK RIDGE, TN

PITTSBURGH, PA

N X »n

30 20 20 20 20 20 3k 20 R



ADDITIORAL INFORMATION

THE TOTAL CUBIC METERS OF 96.3 OF DRY ACTIVE WASTE IN THIS REPORTING PERIOD
I8 SUB-DIVIDED INTO 78.0 CUBIC METERS OF 1988 GENERATED DRY ACTIVE WASTE
DISPOSED OF IN 1989 AND 18.3 CUBiC METERS OF 1980 GENERATED DISPOSED OF IN
1989




CHANGES TO THE OFFSITE DOSE CALCULATION MANUAL
AND

PROCESS CONTROL PROGRAM



No changes were made to the Offsite Dose Calculation Manual or the Process
Control Program during the first and second quarters of 1989.




UNPLANNED RELEASES
T0

UNRESTRICTED AREAS



There were two unplanned releases during the first half of 1989.

@

On January 20, 1989, Arkansas Nuclear One, Unit 1 tripped. During this
trip, the Main Steam Safety valves lifted, releasing steam from the
secondary plant system. The secondary system contains a small amount
of radioactive material, some of which was released when the Main Steam
Safety valves lifted. During the outage following the trip, leak tests
were performed which identified a previously installed leaking plug.
This plug was drilled out and replaced. The activity of the
radioactive material releared was very small (less than 1% of the
guarterly Technical Specification Limit) and no adverse consequences
are expected.

On February 10, 1989, it was discovered that the Arkansas Nuclear One,
Unit 2 Refueling Water Tank (RWT) was leaking contaminated water. The
cause of the leak has been determined to be a defect in a tack weld of
the compression ring stiffener to side wall joint. The tank was
repaired and inspected for additional Teaks. The leak from the RWT
contaminated dirt and gravel around the tank. This contaminated
material was removed and replaced. A fence surrounds the area which
includes the RWT. Sampling of the soil outside the fence was performed
and no evidence of contamination was detected. In additien, storm
drains from this area were sampled and no evidence of contamination was
found. Therefore, it was determined that no contamination reached the
lake.



